= o
N & o & AF & H Al A
20138 =& 3 3 Let3|H M
2AM: SAICIAC Dt
= 0lEU2 TANEE =4
Chel: S AIZ 20 A (9 ® =)
SA- BB B(SH) - NRAS - BYS Ol 4 o4 0| o HI RS2
< AICI ROl Dt 742,360 320,110 422,250
& 100,000 0 100,000
Al 642,360 320,110 322,250
OHE0U=2 A2 =4 289,512 196,624 92,888
< 100,000 0 100,000
Al 189,512 196,624 AT,112
SAIZ 20 AR 7,737 6,400 1,337
CIXtel M3 5,120 6,400 21,280
201 L2yl 5,120 6,400 A 1,280
01 At 22/l 5,120 6,400 21,280
OZ&2ds 3o A& 5,120 6,400 A 1,280
=Jl= 3,584,000 3,584 4,480 A 896
— =1 1,536,000 1,536 1,920 A 384
AN ALY 2,617 0 2,617
201 £B-2dH| 2,617 0 2,617
02 =24l 2,617 0 2,617
OAl =2 g2z B2XH MII= 2,617 0 2,617
—Jl=e= 5,9703 «38kw*3& *1.1 749 0 749
—AMNEEF 828 *23kwx10Al 2tx30L +x3& +1. 1 1,868 0 1,868
2 A& SCIAE 234,560 139,734 94,826
=) 100,000 0 100,000
Al 134,560 139,734 A5, 174
tatEstHel &4 2,787 7,734 N4 947
201 L2 | 2,787 7,734 £ 4,947
01 At 2t 2/l 2,787 7,734 N4,947
Oaael =82 & ANdE2 |2l 2,787 7,734 A4,947
—X8E 1,987,000& 1,987 3,734 A1, 747
—0I0o=E g4 ME o0& 0 3,000 A 3,000
—JIEt ANIE2 800,000& 800 1,000 A 200
2HEOl OFSO2 Hel =4 100,000 0 100,000
< 100,000 0 100,000
401 Al BIZ 201 8I 100,000 0 100,000
= 100,000 0 100,000
01 A& Bl 100,000 0 100,000
OFQANME L@ =F 2t JHAL(SE€H)
100,000,000 100,000 0 100,000
< 100,000 0 100,000
HEAN2 =4 131,773 132,000 AN227
201 LBt H Y| 41,773 42,000 ~227
01 At 22l 39,773 40,000 AN 227
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X{ XH -
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S AICI RO 2t

orStte TAIZd2 =4

el JtR AL ST EERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
ONEES thadole S XortiAel Jb|
39,773,000 39,773 40,000 ~227
zzuxel 47,215 50,490 A3,275
SAORE 29 43,465 46,740 A3,275
201 LBr2 Y| 38,465 41,740 £3,275
01 AtR 2tel | 38,465 41,740 A3,275
OZASBUME(BI) F4ZD 248
29,325,0002 29,325 30,000 AB75
OFSIt 28 R0iJts ZBOXY S 0 0 1,600 A 1,600
OMMBHS FOITXIME OHACIXQ e 3,500 4,500 A 1,000
— T T ol 4 2,879,000 2,879 3,879 A 1,000
OHEBI D HNE TABY FH 64,868 70,750 A5,882
WRE MEHY T4 64,868 70,750 A5,882
Bosze o = 64,868 70,750 A5,882
201 Yyt gl 58,868 64,750 £5,882
01 AtR 2tel | 55,918 61,800 5,882
OB4HEY SX 22l 24,118 30,000 ~5,882
—HAUHEY =2AE DA 19,118,008 19,118 24,000 £4,882
—EATNY 0L 3,000,000% 3,000 4,000 A 1,000
BH2YAH (SAICIXOD) 46,906 52,736 A5,830
o=l 46,906 52,736 A5,830
yst2 Y| 21,976 25,496 A3,520
201 Yyt gl 21,976 25,496 £3,520
01 AtR 2tel | 20,976 24,496 £3,520
OE VEEL-bIEEN] 17,280 19,200 A 1,920
— Qs gy) 8,640,000 8,640 9,600 960
— 3l 8,640,000 8,640 9,600 A 960
OZATRIY KA 0! 0 1,600 A 1,600
ol bl 20,730 23,040 ~2,310
202 04t 20,730 23,040 A2,310
01 2ol bl 20,730 23,040 ~2,310
YRETI| 20t 20,730,000 20,730 23,040 A2,310
W ES(SAICIAE D) 341,074 0 341,074
SHEXNE 341,074 0 341,074
ot 8 20| Ef 341,074 0 341,074
802 & 3| Et 341,074 0 341,074
BEREEETEE] 60,235 0 60,235
OBIUXQ 2.0 ALY wHat3
59,670,0002 59,670 0 59,670
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S AICIXFO!I Dt
HRES(SACIAQID
BEXE

SN FH-SA(EN) - MBAY - BES 0l &F 24 p/E-E" HlnE2
O33C0Xe 2.0 FEAMY Ol ket =
59,670,000% «0.015%230 *1/365 565 565
02 Al - EHIEXZEHEZ 280,839 280,839
OttstEstHel ZLAY gret=
280,838,740& 280,839 280,839
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